Name Using parentheses
with addition

The Big Cheese

. Always complete the operation inside the parentheses () first.

Then complete the rest of the problem.

7+(3+6)= (4+4)+8=
7+9=16 8+8=16
Add.
A. (7+2)+4=__ B+4)+7=___
B. (5+4)+9=__ 9+(2+3)=__
C. 8+(3+5)=__ 6+(2+4)=__
D. (2+6)+(5+2)=_ G+1)+(4+4)=__
E. (3+3)+(5+4)=__ 4+3)+(6+2)=__
F. 6+6)+3=__ 4+5+4)=__ Oo D
G. 5+(4+8)=_ B+7)+7=__ )O g ° g
0 O O °
H (2+9)+8=__ 5+4(5+5)=__ ) o
e
L 8+5)+4=__ 9+3)+2=__ o g o
L O
). B+2)+(3+2)=__ G+7)+(4+4)=__ o O o
K. 2+5)+(5+8)=__ 6+5)+(7+4)=__ O °

\L// The director ordered a big piece of cheese for each actor in the movie. He ordered 6
pieces from Charlie’s Cheese Shop, 3 pieces from Holes and More, and 7 pieces from
Mouse Munchers. Write a number sentence using parentheses to solve the problem.
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